|07, of a number is H0. What is the number?

Work out 507 of 1207 60

Multiply 4.36 by 100 436

-
Work ou+%+g I%




RECALL
Write your 15 times table up to 15 x 15.

What is the 374 number in the sequence?

What is the 12™h number in the sequence?

What would the 20t number in the sequence?

What would the 100 number in the sequence?

How could I work out any number in the sequence?







LEARNING HABITS?




GUIDED PRACTICE £ 1

This nursery rhyme

| frog 4 legs: 2 frogs 8 legs:; Can.ge on forever.
LB frogs 12 legs: ... What if we sang

1) Create a table 100 verses or more?
showing the )/ \ ’
number of
frogs(f) and
the number of

legs(l).

2) Can it work
out the
number of
legs (/) for
any humber

of frogs?

What are the rules for ’rnumber' of eye (e) or mouths (m) |
a frog has?



GUIDED PRACTICE

A frog (f) has 4 legs (1).
How many legs will: Function machine:

1) 1frog have?

2) 2 frogs have?

3) 3 frogs have?

4) 4 frogs have?

5) 100 frogs have?

f
1
2
3
4

6) f frogs have?




INTELLIGENT PRACTICE Y

A bracelet (b) needs 6 shells (s) on it.

How many shells do I need for: Function machine:

1) 1 1x6-=

) 1bracelet b p
2) 2 bracelets '1

3) 3 bracelets 2

4) 4 bracelets 3

5) 10 bracelets 4

6) b bracelets




INTELLIGENT PRACTICE

string (r).

do I need for:
1) 1 necklace

2) 2 necklaces

3) 3 necklaces

4) 10 necklaces

5) 100 necklaces

6) n necklaces

A necklace (n) needs 30cm of red

How many centimetres of string

1 x 30cm =

. 4

Function machine:

n
1
2

|3

10

100




INTELLIGENT PRACTICE y 4

Tickets (t) for the school fayre
cost £7 each.

How much money would I have
made after selling:

Function machine:

T £

1) 4 tickets 4 x £7 =

2) 8 tickets

3) 12 tickets

4) 40 tickets

5) 80 tickets

6) 120 tickets




DIVE DEEPER 1

1) Reena makes fairy cakes. Each
cake has 3 stars on top.

a) Copy and complete the table and
the sentence:

Number of | Number of stars (s)
cakes (c)

O A Ww NN =

100
1500

b) The rule you need to use is:
multiply the number of cakes by

to find the number of stars.

c) Complete the sentence:

For c fairy cakes, you need:

C X stars.

d) Can you create a function
machine?

C




DIVE DEEPER 2

2a) This is a table for Ebo's cakes and b) The rule you need to use is:
the number of grapes he uses for each

cake: multiply the number of cakes by
Number of | Rule | Number of to find the number of grapes.
cakes (c) grapes (g)

- 25 c) Complete the sentence:

For c cakes, you need:

c X grapes.

d) Can you create a function

905 machine?

C




DIVE DEEPER 3

4) Copy and complete

Number of ants 1 2 5 16

Number of legs 12 18 | 24

Create a function machine.

5) Join the rules to the correct diagrams

nx?2

nxb

nx3

nx4




DIVE DEEPER 4

6) Whitney makes a pattern of triangles (t) using matchsticks (m).

m

A NN DN T%

Complete the table showing the number of triangles and the number of
matchsticks.

Number of Rule | Number of

triangles (1) matches (m)




DIVE DEEPER 5

7) It takes Mr Hall 6 minutes 30 seconds to run a mile.
Create a table to work out how long it takes Mr Hall to run half a marathon (13
miles)?

I




SELF-ASSESSMENT

e Some will even explain how they can
re-arrange equations to help them find
the answer they want

e Some will begin using letters to
represent unknowns

e Most will explain a sequence in words

e All will continue sequences using a table




